Applications of Quadratic Equations

Goals:

1. To solve formulas for a specified unknown.
2. To solve applications involving quadratic equations.
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# Guidelines for Solving a formula for a Specified Variable

Note that the following steps are only applied if necessary:

— 1. Clear the denominators and radicals and combine like terms.

— 2. Distribute to get rid of paren't—heses. -

~> 3. If the equation is linear with respect to the specified variable, then solve
using previous methods. ( no Vw-‘n»b‘t})

— 4. If the equation is quadratic with respect to the specified variable, then

solve either by taking roots or the quadratic formula. .
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Ex. The height of a building is 566 meters. How long would it take an
object to hit the ground if it were thrown from the top of the
building with an initial velocity of 5 meters/sec?
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Ex. Don's Dodge Durango travels(1085)miles. If he had gone 8 (néh )
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faster, then the trip would have taken 2 hours less time. Find the
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average speed of the Durango.
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Ex. Two different pipes can fill a swimming pool. When turned on
at the same time, they fill pool in 8.4 hours. The smaller pipe alone

takes 7 hours longer than larger pipe to fill the pool. How long
would it take the larger pipe to fill the pool alone?
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